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function splatlobj. x1, v1, xZ, ¥2, ¥3, ¥3, d) {

war vd = obj;

shadow = 13

wd.lineStyle{d, _roob.currentecolor, 100);
vidaioveTolxl, ¥1);
vd.curveTo(x3, v3, x2, ¥2);

dd = Math.sart (Hath.pon (x2-x1, 2)Hath.powivZ-v1, 2));

var v = 03

while Gw8<Hath.floor (Gebath.pon Math.randon (), 4100 {
var ¥3 = ddeds (Hath.pow(iath-randon (), 2)-0.5)3
var w2 = ddeds (Walhopow Ofatbrandon (), 2)-0.5);
var wB = Math.randon()-0.5;
var ¥5 = Math.randon()-0.5;

vdoiovelo(el+vd, vl+v2)s
wd | ineTo(xl+v3+vB, yl+u2+vh);
++vl;

function coloreycle()

_root.isCyeling = true;

++_root.g;

if {_root.g == 187
_root.currentcolor = 03
_rool.g = 03

boelse {

_rool.currenteolar = randRange (0, 180000000);

function killcoloreyele() {
_root.isCycling = false;
square_mc.clear (1

function millisi) {
war w1 = new Date();
return vl.zetTine();

function randRanze(min, max) {
war w1 = Wath.f loor (fathrandon (O tnax-nint 1) M+ming

vl netty e de (0. 5+HE R randon (), _roof .currentcolar, 1003;
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